/_‘A/:T,A 6 ﬁ; /f%i ::,'A‘j:Eé N2/,
LW B S RT=P S
1 BRARBEERRE(T6—1) —BH (ER284EFE)
A E R E R E
g | BDE | B | BAR AR MR BAT| BRAD | BRAL | misx
R 5 |sgEn | zpag | B0 ® BPE | R K| Hof | ELO [ S0B | ZRE | KEE
%) | EMH | ) |pEK| (0 |BoT| B |brE|EcH| X
>-F
BERBH®| 131,792 4,721| 1,137 3.6 389 82| 356 915 25 6 1 324 24 9
ZAR™M| 70234 2,130| 646 3.0 128 6.0 121 94.5 12 3 1 105 6 1
WiBH 23,820 1,332 258 5.6 175 131 151 86.3 9 2 - 140 18 6
+ i T 37,738 1,259| 233 3.3 86 6.8 84| 977 4 1 - 79 - 2
BENAREERRR(T6—1—1)—(5B) (FERR284EE)
B E R ERER
=i ZRE | TRR | ZRR | BRZ| B BAT| BAD | BALL | mmk
R 7 | HNEREH | 2REH E = ZRE|R ¥ || B | SN0E | ZEE | REBE
%) | B | % |pEH| (W |BoT| B |bou|HTH| X
>f-&
BERHLH| 61,960 1,780 407 2.9 191 107 172 90.1 10 6 -| 156 14 5
ZAaRM| 33,261 793 229 2.4 50 6.3 46| 920 5 3 - 38 3 1
R ™ 11,047 560 108 5.1 100| 17.9 85 85.0 3 2 - 80 11 4
+ ik 17,652 427| 170 2.4 41 9.6 41| 100.0 2 1 - 38 - -
BENAREERBRR(T6—1—2) — (%K) (FER284EE)
A E R ERE
g | ZPE | BMR | MR WRZ) MR BAT| BRAD | BRAL | migk
R 2 | XNEgEH | 2REH e i 3 ZRE|R B |bof- | BV | SN0E | ZRE | RIEE
%) | B | ) |pE%| 0 |BoT| B |brE|EcH| X
o>-F
ERNBH| 69,832 2,941| 730 4.2 198 6.7| 184| 929 15 - 1 168 10 4
Z2AaRM| 36973 1,337 417 3.6 78 5.8 75|  96.2 7 - 1 67 3 -
WiBH 12,773 772| 150 6.0 75 9.7 66/ 880 6 - - 60 2
ol 3 1] 20,086 832 163 41 45 5.4 43 95.6 2 - - 41 - 2
2 ABHAKREEBRR(T6—2)— (B%) (R 28 5 &)
wE R E BE
ZPE | EfR | BN | AR%| BB RAT | BRALL | gk
R 5 | sgEm | 2pan | Do ® ERE | R % | bof: | OB | RDE | RIBE
%) | =& | %) |BEZ| (0 |BH¥| = |HchH| H
o>-&
BERBH| 131,792 8,948 3,730 6.8 559 6.2| 485/ 86.8| 158 20| 307 68 6
ZHAM 70,234 3,786 1,077 5.4 218 5.8 185 84.9 51 10| 124 32 1
WiBH 23,820 2,567| 518 10.8 171 6.7 151 88.3 64 5 82 15 5
ol 35 ] 37,738 2,595( 2,135 6.9 170 6.6 149 87.6 43 5 101 21 -
KENABREEMKR(T6—2—1)—(B) (284 E)
B e R EER
ais SPE | ERR | EZRAR | BRZ | BR BAT | BALL | =k
R 7 | HNEREH | ZREH E = SEE (R B | Hol-|S0E | Z2E | RIBE
%) | EM | % |pE%| W |BoT| B |Bch|
>f=-%
BERNAB| 61,960 3,030| 1,224 4.9 229 76| 198| 865 46 8| 144 27 4
ZAaRM| 33,261 1,267 362 3.8 89 7.0 74|  83.1 12 5 57 14 1
R 11,047 894| 129 8.1 64 7.2 58| 906 22 1 35 3 3
+ ik T 17,652 869| 733 4.9 76 8.7 66/ 86.8 12 2 52 10 -
KENABREEBRR(T6—2—2)— (X (284 )
mE R E KR
SpE | Bk | ESR | BR2| BB BAT| BRALL migx
R 5 | sgan | 2pEn | Bo ® EBE | R % | Hot: | OB | RDE | RIDE
(%) EB | (%) |BEE| (»w |BHT| H |BETH
>f-F
BERBLH| 69,832 5,918 2,506 8.5 330 56| 287 87.0| 112 12| 163 41 2
ZAaR™M| 36973 2,519| 715 6.8 129 5.1 111 86.0 39 5 67 18 -
BiBH 12,773 1,673 389 13.1 107 6.4 93| 869 42 4 47 12 2
+ ik T 20,086 1,726| 1,402 8.6 94 5.4 83| 883 31 3 49 11 -




3 MiAABREEERS (T6—3) — (BE)

<BBIVHRERE> (FRE284EFE)
B E R A R B
&8 ZRE | ERR | EER R BAT| BAD | AL | Bk
X o | H&ES | ZLER e ZROE W | Hol= | BL\D |50 | 22HE | RIBE
X1 (%) | EH (%) |BHT| & |H3E|ETH| X
~>-&
SR 131,792] 23816 -l 181 957 91.0/ 293 28 16| 534 57 29
ZAaRM| 70234 15528 - 221 686 89.2] 178 18 9] 407 55 19
IWmiBH 23,820 1,550 - 6.5 - - - - - - - -
+ ik 37,738 6,738 17.9 271 956/ 115 10 71 127 2 10
%1 ﬂ&%ﬂﬂﬂf“ﬁﬁé{#ﬁt&?)u_%éﬁt
<BHFIvIRBRERUERMRE > (FER284EFE)
B E R EREBR
=18 SEE | ERR | ZRR R BAT| HRAD | BALL | Bk
R 7 | XNEEH | 2REH o =8 ZEOE | Hol= | BL\D | SDEB | ZRE | RIBE
X2 (%) | %3 %) |BoHY| & | HoE | Hoh| K
>1-F
SERELH 1,243 171| 84 13.8 - - - - - - - -
§5ﬁ‘ﬁ.7ﬁ 986 106 73] 108 - - - - - - - -
I R 196 24 11 12.2 - - - - - - - -
:I:llﬂifﬁ 61 41 67.2 - - - - - - - -
%2 ﬂﬁa“BIJaxﬁﬁﬁmﬁﬂz&mﬂ”ﬁﬁﬁ:@%(ﬁ%)
X3 BRMARZICIIEBREER
ARARZEERR(T6—3—1)—(B)
<BHIVvHRERE> (FER284EE)
B E R E KR
=8 RUEX | ERR | ERR bt BAT | BAD | DAL | ik
R 2 | XNEEH | 2REH e REE W | Bbof- | BLVD | SDE | Z2E | RIEBE
X1 (%) | =% (%) |BHT| & |ho3E|ETh| X
>1=-F
BN 61,960 9,242 - 14.9 455 905| 122 16 9] 265 30 13
ZaRm| 33,261 6,162 18.5 338 89.3 85 11 6] 200 28 8
BEH 11,047 673 6.1 - - - - - - - -
+ i T 17,652 2,407 13.6 117 94.0 37 5 3 65 2 5
X1 BRHERZREZHETRZEL-EZSD
<M/ RBBRERVERERMRG > (FRE284EE)
BT R ERE R
=8 RUE | EFER | EER b3t BAT | BAD | BALL | ik
R 2 | XNgEH | 2REH o =M REE W | bof- | BLVO | SOE | ZRE | REBE
X2 (%) | %3 | (%) (%) |BoHT| & |Ho3E|Ech| ®
>1=-F
ERELE 1,115 145 63 13.0 - - - - - - - -
5%&.‘%?5 869 83| 52 9.6 - - - - - - -
mRH 191 23 11 12.0 - - - - - - - -
:I:IET'H 55 39 70.9 - — — - - - - -
%2 Hﬁ*ﬁljbxﬁﬁﬁmﬁﬂ@%ﬂﬂﬂ PREZLZE(ER)
X3 BRMARZICLIERBREER
ARABREEBERR(T6—8—2) — (%)
<BFIvIRERE> (FERR284EFE)
B FE B E KB
=8 RUE | EFER | EER it BAT| BAD | BALL| Bk
R 2 | XNEEH | 2REH E REE W | bof- | BLVO | SORE | 2RE | RIEBE
X1 (%) | =% | (%) (%) |BoHT| & |H3E|Ech|
>1=-&
=REBH| 69832 14574 -| 209 502 91.4] 171 12 7] 269 27 16
ZHAT 36,973 9,366 - 25.3 348 89.1 93 7 3 207 27 11
BRH 12,773 877 - 6.9 - - - - - - - -
+ ik 20,086 4,331 21.6 154 96.8 78 5 4 62 - 5
%1 ﬂﬁ?ﬁ%ﬂﬂﬂ?“#ﬁﬁéﬁﬁt&%“)u_%éﬁt
<BBIvIRBBRERVERHMAT > (ER284ERE)
B E B E&E R
=i8 RUE | EFER | EfER it RAT| BAD | AL | Bk
X 7 | HREH | SEEY aE =M REE ¥ | bof- | BLVO | OB | 2RE | RIEBE
X2 (%) | %3 | (%) (%) |Bo»T| & |H23E|Ech|
>1=-F
SR 128 26] 21 20.3 - - - - - - - -
ziﬁﬁ,ﬁi 117 23] 21 19.7 - - - - - - - -
WRT™ 5 1 - 20.0 - - - - - - - -
:I:II&FH 6 33.3 - — — - - - - -
%2 Hﬁa“BIbeﬁﬁﬁmﬁﬂz%ﬂﬂﬂwﬁﬁﬁa‘/‘%(ﬁ%)

X3 BRMRZICLIERREER




4 FEENARBEERSR(T6—4)

(ERL285E )
ZEEH BERERER
BUE | BNR | ENG | ARE | A8 s | TAEY| mas
. : =]
R 4 |sesEx| o WIERE | 2&Es % SpE | B % | BAT |CINSRIZ| oo | oiviw |BERR| |\ppz | ON¥E | 22 | xinE

7N 2 EN _ _ Ho1= |AISTH . . THol= NoES
A %E’ RBER ZBEH| (%) e %) | E%| %) | BT % f:%o Hot1=F | Hof=F %? %é%ﬂi ot | X

&
FEREH| 91,043 2,606 684 3,498 30 6.7 21 0.8 18 85.7 2 - 1 - 4 - 2 9 3 -
ZHRT | 48412 391 - 422 - 1.7 6 15 5 83.3 - - 1 - 2 - 2 - 1 -
mBEThH 16,722 949 274 1,279 28 13.2 4 0.4 2 50.0 - - - - 1 - - 1 2 -
+ &k 25,909 1,266 410 1,797 2 11.8 11 0.9 11 100.0 2 - - - 1 - - 8 - -

XKZLR= ( [MMEEOZDER + TYREEOZRER] — MMEERVCYUHEEICKIT 5 2 FEiZ2ER ) + ILUHEEOXNFER X100

5 AMNABRBERRR(T6—5)
<TUERGTSV148AAFRK> (TERL284EEE)

E % B & & &
SEE BIEE | 24EE | 2RE | IBR | ZER | BRZ | BR ik
HHE |NeEN| 2REkl BB |(2REk|zoEn S ZpE| 2 % | savc gf‘(g 3;;%;5; BLE | RINE
ME %) | % | % |BER| % | BoF |5oF| Lrx |porzm| B
TREHK | 69,832 5,799 1,993 5,816 70 16.5 429 7.4 376 87.6 188 27 - 161 44 9
ZA/RM | 36973 2,932 1,239 3,114 - 16.4 284 9.7 236 83.1 122 13 - 101 40 8
iR 12,773 1,261 326 1,048 31 17.8 75 5.9 74 98.7 39 9 - 26 - 1
+ ik | 20,086 1,606 428 1,654 39 16.0 70 4.4 66 94.3 27 5 - 34 -
<IVETS74DH > (FERE284ERE)
B e R E R B
SEE WIS |28 | 2% | SHR | ZER | BRE | BR sk
HHZ |(HeEsk| 2REk BS [SnEy|sviEx %= FuE| R % | pac gf(g g;;{gt SPE | RiNE
#E %) | EB® | % |BES| % | BOT |BNE| pox |porm| H
EREH - - - - - - - - - - - - - - - -
£BRH - - - - - - - - - - - - - - - -
R - - - - - - - - - - - - - - - -
+ g - - _ - - - _ - - _ - _ - - _ -

KELR= ( [MMEEOZDER + TYREEOZRER] — MMEERVUHEEICKIT 5 2 FEiEZ2ER ) + [LUHEEOXNFER X100




6 HEAKSE-

BHBEREEBENKT(T6—6)

w A K B B B
Z ¥
R R — = mEx | e | 20T
40%% | 50%% | 60%%E | 70&k | 40%% | 50&% | 60&% | 70%% i 3 i
BERLH 730 57 40 63 71 148 116 141 94 473 150 107
ZART 430 28 18 30 60 82 70 76 66 286 89 55
IR ™ 168 18 14 25 - 45 27 39 - 100 36 32
T 132 11 8 8 11 21 19 26 28 87 25 20
FHEE®R P
B & |22E% = B .
(%) minE fEE REROT
BEREH 79 18 53
ZAR™ 79 18 53
iR - - - -
T g™ - - - -
7 FRVMIVAREZERRR <STB#®RE> (T6—7)
(ERR284ERE)
mB®E CEIFRDER BEFRDER
CH! FF# BEIRF % RBRETREMEA B E
o WNRER | SLEY SUE |ZLES X wed | uze| iR B5 1% B
(%) (%) 3 (%) (%)
SR 2,670 292 10.9 291| 109 - - - - 3 1.0
ZAaRT 1,428 167 11.7 167 11.7 - - - - 2 1.2
RE™ 469 65 13.9 65| 13.9 - - - - - -
T g H 773 60 7.8 59 7.6 - - - - 1 1.7
FROINABREERERE<TENEEZ > (T6—7—1)
-l ZRaY: £ CRIFF#DFER BEIFF K DFER
BT 2% | BEUBF 2% B A E
g O BRR& mak| . |mew
28 22 H H B
BREY (ZEEY HED | HED 11 (%) (%)
A1 ~A44ER 8 8 - - - - - -
45~498% 5 5 - - - - - -
50~545% 10 10 - - - - - -
55~598% 6 6 - - - - - -
60~64%E 11 11 - - - - - -
65~698 14 14 - - - - - -
70m% 2L L 5 5 - - - - 11 200
Bt 59 59 - - - - 1 1.7




8 REEFIR3Z(T-fRARAREE - RAEHIE(T6—8)

(CERL284ERE)
RBEFIEZEH 2 K #H % o ® KB KR &R
R 4 &t B m & BE 8 %
A0k~ [75%mLLL| BfE (EAB| B I £ | BERYEE | # R & WEEE THEE | THEOBRE m R Al
745 [E1# E% EAE| DH |EAR| % |BEAE BH |EAR| B% |BEAS EH (ZEAS| @EH |EAB
BN 89 -|  325| 1,822 - - - - - - 4 16 2 35 - - 11 30
AR 0 - 97| 1,130 - - - - - - - - - - - - - -
WmiBRT™H 45 - 51 296 - - - - - - - - - - - - 11 30
+ i 44 - 177 396 - - - - - - 4 16 2 35 - - - -
fERB O RN
K ﬁj\ ﬂéﬁéﬁﬁ*ﬁ%ﬁ HEedlE D ERER R
=18 EAR BE# |EAR
SR 308 1,741 - -
ZAR™T 97 1,130 - -
BBTWH 40 266 - -
T+ g 171 345 - -
o EA-EHAREHE(T6—9)
(ERR284EHE)
BEBRRERESHET OXKERKR
X & Hi - IEER
(EAR) =MmE prrped PERIR| 2 1E
BEALEK 5 - - - 5
ZAHART 5 - - -
Br ;B - - - - -
+ i = - - - -
CERL284E )
£ H # FE & ®¥ O £ B K K
. Di:Eﬁ'»fj‘“/‘/F TR _
X 4 K oEKE I(:;E Qf\%ﬁﬁﬁ) (COPD) =" R Al E= 4
Bt | &S /n | BAE (&S | BiE (S | BAfE (S in| BHE (&S tn| BAdE (S | BEE |3 Mo
BE#H |EAS | BH |EAE| B [EAS| BH |(EAR| O |EAR| BH |EAE| E% |EAS
BERNELH 300, 6,883 22| 260 2 35 1 90 15| 309 - -| 260| 6,189
Z2AHRE™ 157| 3,866 1 80 - - 1 90 15| 309 - -| 140| 3,387
IR B ™ 42 470 18| 158 - - - - - - - - 24| 312
+ ik 101| 2,547 3 22 35 - - - - - - 96| 2,490
10 SREEEERR(T6—10)
(ER284EE)
P — B-2UE
EirE - | T ) . SBANAE
X o BEE| VP | " OpfEraEigE| FEIEE ZDth
BE  nas| o |FEE| B (Ei8) @ | OF
o g | A B 324 = - - - - - - -
BB EAB e — - - - — — — —
& EAB 26 - - - - - - - -
ZAaRM AR 26 - — — — — — — -
w EAR 284 - - - - - - - -
B EAR 296 — — — - — — - -
AR 14 - - - - - - - -
+ &M EAR 14 - = = = - - - -




